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QUESTION 1

A High Availability (HA) cluster is configured to respond to a given number of host failures. The cluster contains virtual
machines configured with these settings:

-VM1 has a 1GHz CPU reservation and no Memory reservation

-VM2 has a 2GHz CPU reservation and no Memory reservation

VM3 has no CPU reservation and no Memory reservation Given this information, what is the correct slot size for the
cluster?

A

The CPU Reservation should be set to 32MHz and the memory reservation should be set to 32MB plus memory
overhead.

B.

The CPU reservation should be set to 1 GHz and the memory reservation should be set to OMB plus memory
overhead.

C.

The CPU reservation should be set to 2 GHz, and the memory reservation should be set to OMB plus the virtual
machine memory overhead.

D.

The CPU reservation should be set to 2 GHz, and the memory reservation should be set to 32MB, plus the virtual
machine memory overhead.

Correct Answer: C

QUESTION 2

What is the maximum number of possible Virtual NICs per VM in vSphere 6.5?
A. 16

B. 10

C.20

D.4

Correct Answer: B

QUESTION 3
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What are the correct steps to migrate the storage of a virtual machine?

A. Right-click the virtual machine and select Migrate Select change storage only
Select the format for the virtual machine\\'s disks

Select the datastore to migrate to

Select the destination network for all VM network adapters Click Finish

B. Right-click the virtual machine and select Migrate Select change compute resource only Select the destination host
Select the destination network for all VM network adapters Click Finish

C. Right-click the virtual machine and select Migrate Select change both compute resources and storage Select the
destination host Select the format for the virtual machine\\'s disks Select the datastore to migrate to Select the
destination network for all VM network adapters Click finish

D. Right-click the virutal machine and select Migrate Select Migrate virtual machine to a specific data center Select the
destination datacenter Select the format for the virtual machine\\'s disks Select the datastore to migrate to select the
destination network for all VM network adapters Click Finish

Correct Answer: D

QUESTION 4

A user wants to monitor a business-critical virtual machine to ensure that it doesn\\'t run out of resources. What metric
could be monitored in vRealize Operations to address this concern?

A. Time Remaining badge

B. Compliance badge

C. Reclaimable Waste badge
D. Density badge

Correct Answer: A

QUESTION 5

A vSphere Administrator sees the alarm:

vSphere HA virtual machine failed to failover

This occurred for a number of virtual machines on a particular ESXi host in a cluster with vSphere High
Availability (HA) enabled. The virtual machines guest operating systems never reported a power event.
What happened?

A. The virtual machines were vMotioned off of the ESXi host.

B. The ESXi host is still running but has disconnected from the network.
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C. The ESXi host failed and vSphere HA successfully failed over the virtual machines.
D. The previous virtual machine cloning operations failed to complete.

Correct Answer: C
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